Subject: Re: Upp 610-dev2 released
Posted by guido on Fri, 20 Oct 2006 20:52:54 GMT

View Forum Message <> Reply to Message

luzr wrote on Fri, 20 October 2006 17:43Really strange, should not be affected by encoding...
Mirek

Ok, upon a closer look, it's really trivial.
The match for "printer” will obviously break in non-English locales:

Vector<String> | = Split(System("Ipstat -p"), '\n’);

for(inti = 0; i < l.GetCount(); i++) {

Vector<String> w = Split(I[i], ' ");

if(w[0] == "printer" && w.GetCount() > 1)
printer.Add(w[1]);

}

Maybe Ipstad -a is easier to parse. Although I'm not quite sure | understand the semantic
differences from the -p option:

Vector<String> | = Split(System("lpstat -a"), \n’);
for(inti=0; i < l.GetCount(); i++) {
Vector<String> w = Split(I[i], ' ");
printer.Add(w[0]);

}

Guido
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